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01 AiHé 50,000 100, 000 A 50,000
01 AiHé 50,000 100, 000 A 50,000
|01 B4 50,000 100, 000 A 50,000
03 fdbidg: 4,000 4, 000 0
01 #Eiiée 4,000 4,000 0
|01 b T 4,000 4,000 O| R FE Hhate 2 70> B Dl &
04 FHILA 1,000 1,000 0
01 FEUTA 1,000 1, 000 0
|01 FEULA 1,000 1, 000 (] E=:9N
| IRAEF 55, 000 105, 000 A 50,000
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01 WwE# 50,000 100, 000 A 50,000
01 WEEHERE 50,000 100, 000 A 50,000
01 =H# 47,000 95, 000 A 48,000
03 fkE 32,000 65,000 A 33,000 E
04 ERE 15,000 30,000 A 15,000| & 42 %
02 HEREEE 3,000 5, 000 A 2,000
04 ERAE 2,000 3,000 A 1,000[3CE, XERER
05 HHE 1,000 2,000 A 1, 000[#R5A F ok}
02 HEH 0 0 0
01 TR 0 0 0
01 EfTHER 0 0 0
06 ZFCE 0 0 0
07 AHEL&MB L URME& 0 0 0
02 FIAEEEER 0 0 0
06 ZFtE 0 0 0
03 FEHEE 0 0 0
04 FERHE 0 0 0
05 REE 0 0 0
06 FFEH} 0 0 0
04 JREATER 0 0 0
04 ERE 0 0 0
05 H&E# 0 0 0
03 TlE# 5,000 5,000 0
01 Fls# 5,000 5,000 0
01 Fls# 5,000 5,000 0
[12 e 5,000 5, 000 0
| &t 55, 000 105, 000 A 50,000




